1. Найди значения выражений:
56:7                        36:6                  40:2                       49:7
2. Вставь пропущенные числа, чтобы равенства были верными:      
659= 600 + ____+9 
3106=______+ 100 + 6
38014=______+ 8000 +_____+4


1. Найди значения выражений:
56:7                        36:6                  40:2                       49:7             90:5
2. Вставь пропущенные числа, чтобы равенства были верными:       
3106=______+ 100 + 6
38014=______+ 8000 +_____+4
22002=______+______+_____



